Answer these divisions.

| 93:8=[] 8 79:4=[]

2 56+3=[] a 71+3=]
3 88+5=[] 10 90:6=]
4 87:6=] m98:8=[J
5 65+4=[] R 97:+7=]
6 86:7=[ 13 89:3=[]
7 719:6=] % 99+7=]

Four children eat dinner with 22 fish fingers
@ to be shared equally between them. How

many fish fingers will they each have if all
of the fish fingers are to be eaten?

e I am confident with dividing 2-digit numbers by
I-digit numbers with and without remainders.
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. 93:8=1Ir5
2. 56:3=18r2
3. 88:5=17r3
4. 87:6=14r3
5. 65+4=16r]
6. 86:7=12r2
7. 79:6=13rl
8. 79+4=19r3
q. 71+3=23r2
10. 90+ 6=15
. 98 +8=12r2
12. 97 +7=13r6
13. 89 +3=29r2
14. 99 +7 =147

Think. 5 and a half.



